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Please check that this question paper contains 20 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 41 questions.

Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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General Insiructions :

(1)
(i)
(zi1)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)

31/2/1

The question paper comprises of two sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

All questions of Section A and all questions of Section B are to be
altempted separately.

Questions number 1 to 4 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

Questions number 5 to 13 in Section A are two-mark questions.
These are to be answered in about 30 words each.

Questions number 14 to 22 in Section A are three-mark questions.
These are to be answered in about 50 words each.

Questions number 23 to 25 in Section A are five-mark questions.
These are to be answered in about 70 words each.

Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of the
four provided to you.
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SECTION A
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Write the name and formula of the first member of the series

O
|1

of carbon compounds havmg functional group — C — OH.

Wﬁaﬁm@ﬁﬁq%@aﬁrﬁ?ﬂmaﬁmt

State one function of the crystalline lens in the human eye.

~

FAUSH & SR WR R S & R FE g 2

What is the function of ozone at the higher level of atmosphere ?
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Consider the following food chain wh'ichv occurs in a forest :

Grass — Deer - L1on

If 10000 J of solar energy is available to the grass, how much energy
would be available to the deer to transfer it to the lion ?

A o w g T E
4Be, 9F> 195, 9002
1) g8 @ gwg SEERCIRRERCIN) fr Ush s@ra?r:r % |
(i) A TR % & T g |
Choose from the following :
Be, oF, 1K, 5Ca

(1) The element having one electron in the outermost shell.

- (i1) . Two elements of the same groﬁp.

31/2/1 | 3 P.T.O.




6. e T W Gl g 183 0,
(a) 39 9 & g WA 991 IER GO # B 2
(b) W& T oG B TS TG ? IO I H Y AT |
An element has atomic number. 13.

(a)  What is the group and permd number to which this element
belongs ? ~

(b)y Is ’ghls element a metal or a gnon—m‘etal ? Justify your answer.
7. W ¥ FE 5 Ay & swn 0 & 9 ol g SR | A R T e
TR QN g R I F e ffer ST e wrr @

List two advantages of practising vegetative propagation in plants.
Select two plants raised by this method from the list given below :

banana, gram, pea, rose, tomato, wheat

8. Wﬂt%mﬁa%mwﬁaﬂwma‘raﬁﬁmmmélaﬁﬁ
W@ﬁﬁaﬁaﬁﬁmml

List the parts of human male reproductiveﬁ system which contribute
fluid to the semen. State two advantages semen offers to the sperms.

9. THRT 0T oM@ Wied & foT 89 S Rl @ 3uE &G § | 3 R @
IAE 39 YER o mer @ 5 o ¥ stvadd & TvET §e I Wea ¥ 9 W
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fow & <" s w9 vfafaw & fafe 39 0§ Fifw |

To construct a ray diagram we use two light rays which are so
chosen that it is easy to know their directions after refraction from
the lens. List these two rays and state the path of these rays after
refraction. Use these two rays to locate the image of an obJect placed
between 1" and ‘2f” of a convex lens

10. XU I U % AU S R smw Wifbe qor 98 laxrg 3T HfT SR
(i) avi farqur, (ii) AfdRe e 8l @ |

Draw a ray diagram to show the formation of a rainbow and mark
the point where (i) dispersion, (ii) internal reflection occurs.
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“The time difference between the actual sunset and the apparent
sunset is about 2 minutes.” What is the reason for the same 7?7
Explain with the help of a diagram.

12, o4 & “Stg fafaua o B we” w9 s @ 2 T8 S ST & gE 9ARt
ECEIE eoe @ﬁﬁwwﬁﬁaﬁwq&wm%mrﬁdﬁmqmqamwbdt,
21 2

s

Why are forests considered “biodiversity hot spots” ? List two ways in
which an individual can effectively contribute to the management of
forests and wildlife.

13. vﬁﬁam”maﬁf&@thwuxﬁawﬁwwﬁﬂmétm
EATE = ; 2

State the meaning of “sustainable management”. Reuse is better than
recycling. How 7 ‘

14. FEFE e A e sl qo e s F fe ot S ek
T % fau sfufen § Torfe gie of fafaw | () TRl au () T
arfferan 1 /ST B 2 3
Distinguish between esterification and saponification reactions of

organic compounds with the help of the chemical equation for each.
What is the use of (i) esters and (ii) saponification process 7

15. (a) @@ @ AYHS e W § R o § 2
(b) f5dt o ¥ IW ¥ 9 s W, wAW] G, AR 9O G TRmi
¥ 1 gRadq & § 2

(c) foreit amad o o ol ¥ ¥ 3R W W T T WES H A1 e
Fequl § fFY YRR S STl € 7 3

(a)  How many periods are there in the modern periodic table of
elements ?

(b)  How do atomic radius, valency and metallic character vary down
a group ?

(c) How do the atomic size and metallic character of elements vary
as we move from left to right in a period 7

31/2/1 5 P.T.O.




16. TeH (AIDS) T & ? TE% WH % faw S S SEeE 22 MUTH
ey 3 U fafy w fAfoT | TS Q99§ TE I S U H W S
What is AIDS ? Which microbe is responsible for AIDS infection ?

State one mode of transmission of this disease. Explain in brief one
measure for the prevention of AIDS.

17. ‘o s T e w e eel o sl N ST T R
g ¢ @ 39 9 T ISRCT W ueEdl § I A qor $u HRer of
faf@e 1 o
“An individual cannot pass on to its progeny the experiences of its
life-time.” Justify the statement with the help of an example and also
give reason for the same. ' '

18. (1) & <Rfen, SR, ey adn sRelndl ¥ ot SEa € 1 o T e #

g T foEriE STt i B T fer ST ke & 2 R 2

(i) @Wtﬂsmaqﬁmm%m%ﬁr@mwﬁﬁmw
forepr TGl ¥ B |

@) We see eyes in planaria, insects, octopus and vertebrates. Can

eyes be grouped together in case of the above-mentioned animals
to establish a common evolutionary origin ? Why ?

(i)  State one evidence to prove that birds have evolved from reptiles.

19, YOE @ ¥ Wema § ©Av ¥ wy SiFw 5 Ame R Feed R @
Wﬁ@ﬁ%ﬂﬁﬁﬂﬁgwmwéimam,aﬁﬁ@ﬁq
foryy ¥ o Frofor % fog S @ € 2 ,

With the help of a flow chart explain in brief how the sex of a
newborn is genetically determined in human beings. Which of the two
parents, the mother or the father, is responsible for determination of
sex of a child ?

20. fr= fafedl § W U0 & R fAfET
G) fre R & e (Fe-Tse)
i) fEd o S Tve-ged g
(iil) ®R 9l G
T I S FROT Wied I A |

3121 6




Name the type of mirror used in the following situations :
1) Headlights of a car

(ii)  Rear-view mirror of a vehicle

(iii)  Solar furnace

Support your answer with reason.

21, @%memzumm@%%@méﬁ%g@m%mﬁm
213 Y F g 16 cm R | W I H I F S At S gl
(Reafcr), gt qm wHld I FST | 3

A 4 cm tall object is placed perpendicular to the principal axis of a
convex lens of focal length 24 cm. The distance of the object from the
lens is 16 cm. Using lens formula, find the position, size and nature
of the image formed. '

92, fe Tff AT-IF W T QI g% H W 7T W@ YA H WA & AU ™
T sRE @ifaT | 59 5 99 % 399 8 h & HRON A TR TR |
fe <ft Av-7% 9 AT w5 = 2 m ¥ e g W e awgsl & owE A
Y@ T | TEE TH <fF QY 3 NG T gl ofF R YRR & 8 2 39 SN
¥ 9w g T9 3fF v & uied i ¥ AU T R sy e’ | 3
Draw a diagram to show why distant objects cannot be seen distinctly by
a myopic eye. List two reasons due to which this defect of vision may be
caused.

A person with a myopic eye cannot see objects clearly beyond a distance
of 2 m. Name the type of the corrective lens that would be needed to
correct the defect of vision and draw a ray diagram to show how the defect

gets corrected. ,
93. (a) frdt 3faa SeEr @ WAl ¥, B9 o iR & faw stdvas uRftgfaa
Ao I S % Wy iR T f en 9 Rt oReddd w1 sedd
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(a) With the help of a suitable example, explain the process of
hydrogenation mentioning the conditions of the reaction and any
one change in physical property with the formation of the
product.

(b) How does a saturated hydrocarbon react with chlorine ? Write
chemical equation for it. What type of reaction is it called and
why ?

OR

N

What are soaps and detergents chemically ? Explain the action of
cleaning by soaps. State the reason why we can wash our clothes
even in hard water using detergents.

24, () TS IRT@ F YEE WP FINC fF WET T I F IREH | G &
Y R (S SIS B A IE (S I 7% g A
WEEE Bid € | 3T IR@ F e, Wiel g, W OIHE g9 U0
A HINT |

(i) TOOT @ o7 fArEu 9o W SR WeT & i G S A R
& 3T FHIT | 5

HYgdl

g8 # 37 TReddl & Seom ST S Rt fefud evs (FEES) § OHFE A
ST @ H Ry % 9 99 °% 20 % | @ f s & fee g, o
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(i) Explain with the help of a diagram how pollen after landing on
the stigma of a flower helps male germ cell to reach the female
germ cell. Label the following : ovary, female germ cell, male
germ cell and pollen grain.

(ii) ~ State the meaning of pollination and mention a distinguishing
feature between self-pollination and cross-pollination.

OR

State in brief the changes that take place in a fertilized egg (zygote)
till birth of the child in the human female reproduc‘mve system. What
happens to the egg when it is not fertilized ?

31/2/1 8
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Gioer 39 fag aiuret & ST R U9 ele ofw @ wed T wd w9
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List the sign conventions that are followed in case of refraction of light
through spherical lenses. Draw a diagram and apply these conventions in
determining the nature and focal length of a spherical lens which forms
three times magnified real image of an object placed 16 ¢m from the lens. -

OR

State the laws of refraction of light. Write an expression to relate
absolute refractive index of a medium with speed of light in vacuum.

The refractive index of a medium ‘X’ with respect to y’ is 2/3 and the
refractive index of medium ‘y’ with respect to ‘z’ is 4/3. Calculate the -
refractive index of medium ‘z’ with respect of %’

T §
SECTION B
26. U WU F FO SR H YA S A el T | A forermT w0 O 1
(A)  TRU '
(B) W &
(C) & e
(D) T e

Some crystals of ferrous sulphate were dissolved in distilled water. The
colour of the solution obtained was

(A) dark green
(B) pale green
(C) light blue
(D) dark blue

31/2/1 9 P.T.O.




27. ﬁs‘wwq@ﬂmﬁm‘kgwww qehe, HW TThe, ¥ e T R
e & WO foerd W TS e § T 991 AR % U9 S 8 | §9 we
TYER, 0T W FE A€ U6l @ 6 Faw 3 ¥u W T o W =99 2 S g
g

(A) e wehe faead §

(B) St Uohe faemm #

(C) U9 Gethe faeraT |

(D) T e foo o |

A student puts one big iron screw each in four test tubes containing
aqueous solutions of aluminium sulphate, copper sulphate, ferrous
sulphate and zinc sulphate. After some time he observed a reddish
brown coating only on the surface of the screw which was put in the
solution of '

(A) Aluminium sulphate
(B)  Copper sulphate

(C)  Ferrous sulphate
(D)  Zinc sulphate

28. Udifes e ¥ Ty oI ©

(A) TR S
(B) @IS S
© g & w S
(D) fows S

Acetic acid smells like
(A) an orange

(B) an onion

(C) lemon juice

(D)  vinegar

31/2/1 10




29. foemy wiewr & 7 a1 fher s @ fo Uifes amq @ S foere 1
(A) A ferg B TRE W R
(B) il foeng # e I A 2
(C) ot foremy & e & e 7
(D) o foeTy & TR S 2 8

In a litmus test it is observed that an aqueous solution of acetic acid
turns

(A) = blue litﬁms colourless
(B)  blue litmus red
(C) | red litmus blue

(D) red litmus colourless

30. % O a, b, c, 91 d 3ifFT IR TwEAfeEl ol @ BEE HAW NaCl, Na,CO,,
NaHCO, @21 NaOH R ¥ | o8 ai-ai ¥ & waqen § Whfes o s @
aﬁtméwm%w%ﬁ%aﬁ?ﬁﬁmélag%mwé

5 secont el g o 8, 3§ , 1
(A) as3Wb
B) bW
(C) c3fitd
D) dWa

A student takes four test tubes marked a, b, ¢ and d containing
NaCl, Na,CO,;, NaHCO, and NaOH,respeétively; He adds acetic acid
to the test tubes one by one and every time he immediately brings a
lighted match-stick near to the mouth of the test tube. He observes
that the match-stick extinguishes in the cases of

(A) aandb
(B) bandc |
(C) candd
(D) danda

31/2/1 11 P.T.O.




31. fodh oy fa ¥ omufad o YT AUl @ PR g X BT wle Te T

g i w3 8 1 9 3 X d T 1
(A) T <0

(B) 3@ od

(C) ofFaa o™

D) mﬁwﬁwawmﬁg

Parallel hght rays from a distant object incident on a device X’ form
a point size image on a screen. The device X’ must be

(A)  a concave mirror
(B) a convex lens
(C)  a concave lens

(D) either a concave mirror or a convex lens

32. o om & 5l oy e w1 W W v o S G ST O S Bied
=0 frefita 00 2 | o TR Wm A & o 3§ AN R T se T e
e 2 1

a. 9 (N9 3 cm) W F AW I |

b, 9 I3 (¥ 5 cm) W H A9 I |

c. U9 ¥ afm g W g |

d oUW fom @@ T s AR
e. FM F T oI TR W |

£ &R Y FH-9-59 T A |

(A) a,c3Re
(B) b,d3Rf
(C) a,d3Rf
(D) b,d3Re

31/2/1 12




A student has to determine the focal length of a convex lens by
obtaining the image of a distant object on a screen. Which of the
following measures should he take to obtain better results ?

a Select a lens of small diameter (say 3 cm).

b. Select a lens of larger diameter (say 5 cm).

c. Select an object very far from the lens.

d .Seiect an object far, but not very far, from the lens.

e. Keep all the lights of the room on.

f. Keep minimum lights of the room on.
(A) a,cande

(B) b,dandf

(C) a,dandf

(D) b,dande

33. WWX,Y%ZWW@‘%WRIW%Hﬁti&wm‘?{wwﬁ:‘zwm‘ﬁﬁw
aﬁtﬁw?ﬁiﬂﬁml‘éélxmﬁﬁmﬁ%ﬁﬁﬁmﬁ@w%dm
o T E @ R | Y YATTen & e 3 Uhe Gt §ARG S Wi S T
%ﬁz@wﬁ%wmmmw%tm@mmm

A N S e/ 8 8/8 1
A X

B Y
© Z

D) Xam Y

Three students X, Y and Z are finding the focal length of the given
concave mirror by obtaining the image of the object selected by them.
X obtains the image of the grill of the nearest window of the lab. Y
obtains the image of a white painted building near the lab and Z
obtains a point size image of the sun. The most correct value of the
focal length is obtained by

A X
B) Y
©C) Z

(D) X and Y both

31/2/1 13 P.T.O.




34. TN OHl P, QRN ST L1, L1 70 Le 3 ot T wg H9 wroht & eoi w8
2

BH| P Q R S
HOT
Zi 30° 30° 300 | 30
Lt 16° 18° 20° 29°
Le 32° 31° 29° 31°

9 om 3 WM # e sw gEuEEE R d, T d

A P
B Q
© R
D S

The values of £ i, £ r and £ e as measured by four students P, Q, R
and S are tabulated below :

Students P Q R S
Angles
Zi 30° 30° 30° 30°
Lr 16° 18° 20° 99°
Le 32° 31° 29° 31°

The student who performed the experiment most carefully and
methodically is

(A) P
® Q
© R
D) S

31/2/1 - 14




35. aﬁﬂ%mzﬁaﬁgﬁﬁw'@mﬁmﬁwaﬁ@ﬁmﬁ%maﬁ
mm,ﬁwﬁﬁmﬁ@mﬁﬁﬁmﬁmﬁmvﬁmmmﬁﬁ
& e § 7 (P, iR P, WM &% fow we i A Reaf €

@ P \ ‘\ N
‘\ : \‘ CD\:P2 \\
\\ QP, ) oF2
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1 o I NG

A) 1

(B) II

©) III

D) IV

While performing the experiment on tracing the path of a ray of light
through a rectangular glass slab, in which of the following
experimental set-ups is a student likely to get best results ? (P; and
P, are the positions of the pins fixed for the experiment) '

\

v p ) . .
G‘\ 2 \ ‘@\Pz o
\\ é\Pz N , \\@Pz
oP; oPy - ePy oP1
1 I 11T , IV‘
A I
B) I
(C) III
D) IV
31/2/1 15 P.T.O.
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T HER oM@ Y, N a6 98 50 § safya w8 § 1
I II | 111 v
& ol B TR w g R

(A 1L IV, L 1T
(B) IV, IIL, 1, II
(©) LI 1V, II

(D) IV, I III, 11

After observing a slide, a student draws the following diagrams for
different stages of binary fission in Amoeba which are not given in a
correct sequence here.

CONODRONCS

The correct sequence of these diagrams should be

(A) I IV, 1, 11
® IV, I 1, 11
(©) I, 11V, 11
(D) IV, 1, I, 11

31/2/1 16




- 38.

Giaer ¢ |

. 3K TE S SuR R W g ¥ Y %W % gvew A fen T eme
S

IR § quE TR ’1

(A) e ¥ e w1
(B) e ¥ dafq sifvreed & fmio

(C)  ofdien H fgved

(D) afar ¥ geug & fmi

A student draws the following diagram after observing a prepared
slide under a microscope. This illustrates

(A) bud formation in yeast
(B) formation of daughter cells in yeast
(C) binary fission in amoeba

(D) pseudopodia formation in amoeba

Fa1 & oA @ A § qged # U GO e o T | e s 3 e

Tt ¥ oER FE-fE amE @9 | ¥ 9N o e Rg e 1
I I 11 é |

T wd ImE /8

@) 1

®) I

© 131V

(D) TI9 I

31/2/1 ' 17 P.T.O.




A prepared slide of budding in yeast was shown to the students of a
class. Different students made different sketches on the basis of their
memory. Out of these, four diagrams are shown below :

088

The corr;act diagram(s) is/are .
A) I
B) 1II

(C) Tand IV
(D) 1II and III

39. FiEel & @y Y W R o 3 Frafafed T o 1
d F I T 9@ H FETH = 25 g '
frm @ & frufii & s =5 ¢
T & uvar feefR @ serme = 8 g
FAN & WvEr diH ¥ 99 el # FEmE = 21 g

(25-2D)g

(A) x 100
25g

® 8=9g 100
5g

c B-2Dg
21g

@ 8-9e 100
8g

31/2/1 18




40.

N

While performing an experiment with raisins, a student took the
following measurements : ' :

Mass of water taken in the beaker = 25 g

Mass of raisins before soaking =5 g

Mass of raisins after soaking =8 g :

Mass of water left in the beaker after experiment = 21 g
The percentage of water absorbed by raisins is

(25-21)g v

s 100
25¢g

(B) 8-5¢g . 190
°5g

(C) 25-2Dg % 100
21g

(D) 8-58 . 100
8g

Froifirsti TR SR S & e FEiE 6§ v § sifew did o | T
i frafiell % TS e S 9 ger W 2 | T o e 1

(A) ol ReuEel @ g9 # e

®) @ feubet @ @ % N fen

() i feufrdt w o el B OYE & 9 iR

(D) s frvfiel ™ o s & feex W ¥ 1T

While performing the experiment of determining the percentage of
water absorbed by raisins, the extra water left on the surface of

soaked raisins is removed before final weighing. The correct procedure
for this is

(A) keep the soaked raisins under the sun
(B) keep the soaked raisins under fan
(C)  wipe off the extra water using dry cotton wool

(D) wipe off the extra water using filter paper

31/2/1 | 19 P.T.O.




41, foruiel g SEwifh Sel & Sfaeaa 0 9 % T R HE F FO WO 99
ﬁm:ﬂq T U YA

a.
b.
c.

d.

i fEofae = difee

T R @ i

el @ 2 5 d% W ¥ fimse
ofift et i 6R-eR difon

A)
(B)
()
(D)

b,a, ¢, d
b, ¢, a,d
b, a, d, c
b, ¢, d, a

Following are the steps involved in the experiment of determining the
percentage of water absorbed by raisins which are not in proper

sequence :

a. Weigh soaked raisins

b. Weigh dry raisins

c. Soak the raisins in water for 2 hours
d. Wipe out soaked raisins gently

The correct sequence of these steps is

(4)
(B)
©)
(D)

31/2/1

b,a,c d
b,c, a, d
b,a,d,c'A
b;c,d,a
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